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[1] #PCB 120 %0.8 %2.4
[1-1]E/ 7ot 7 =)V 20 0.03 0.09
[12] Y7 uvrb 7=/ 32 0.1 0.4
[1-3] NV 7o 7=V 23 0.1 0.3
[1-4]7 hT/mabe 7=/ 15 0.3 0.8
[1-4-11 275 F—PCBD % 5 3344-F F 77 nut 7 ==L #7) 0.13 0.02 0.05
[1-4-2] =277 F—PCBD 5 H 344,57 b7 /7mmr b7 ==/l (#1) tr(0.02) 0.02 0.04
[1-5] X%/ mub 7=/ 10 0.1 0.3
[1-5-11 2775 —PCBD 9 5 23344~ F 77 =/l (#105) 0.30 0.02 0.04
[1-52] 275 F—PCBD 9 5 2344 5-_XF7unb”7 =)L (#114) tr(0.04) 0.02 0.05
[1-5-31 27T F7—PCBD 9 5 23445477 x=/L (#118) 0.77 0.03 0.09
[1-54] 27T F—PCBD 9 H 23445477 =)L (#123) tr(0.03) 0.01 0.04
[1-5-51 27T F—PCBD 9 5 3,3445-~ 477 =/l (#126) tr(0.04) 0.03 0.08
[1-6] ~FH 7 mo 7 ==L 14 0.05 0.14
[1-6-11 27T F—PCBD 9 5 233 44,5-~F o7 ==L (#156) 0.12 0.02 0.05
[1-62] =755 —PCBD 9 b 23344 5-~FHF 7/ nu b7 ==/ (4157) 0.05 0.01 0.04
[1-6-3] 277 F—PCBD 5 H 234455 ~FF /o7 ==L (#167) 0.04 0.01 0.04
[1-6-4] =275+ —PCBD 9 % 3,3 44 55-~FH /o7 =)L (#169) nd 0.02 0.05
[1-7]~F %7 nn b7 ==/ 8.2 0.03 0.08
[1-7-11 =755 —PCBD 9 & 2,233 44,5-~7 A 7 0 a7 ==L (#170) 0.52 0.02 0.06
[1-7-2] 27 FF—PCBD 5 H 2234455 ~74/aab7x=) (#180) 1.5 0.02 0.05
[1-7-3]1 =275+ —PCBD 9 % 23,344 55~ % 7o 7 =)L (#189) tr(0.02) 0.01 0.04
[1-8] 427 % 7unbt 7 ==V 1.0 0.06 0.15
[19] VF 7ot 7 =)L 0.07 0.03 0.07
[1-10) FHZarE 7 ==L 0.05 0.02 0.05
[2JHCB (~¥H¥ 7o E)) 140 0.04 0.11
[6] DDTHH 9.2 %0.27 %0.69
[6-1]p.,p'-DDT 2.5 0.06 0.15
[6-2] p.,p'-DDE 43 0.05 0.13
[6-3] p ,p'-DDD tr(0.10) 0.05 0.13
[6-4] 0.,p'-DDT 1.7 0.03 0.08
[6-5] 0 ,p'-DDE 0.54 0.04 0.10
[6-6] 0 ,p'-DDD tr(0.08) 0.04 0.10
[15] v T Aty 2 A7k (PFOS) 1.2 0.07 0.18
[16] V7 Auxs Z W (PFOA) 5.4 0.3 0.7
[17] X & 7aaxXE8y 130 0.05 0.13
[18] =¥ RANLT 7 4 3.3 %0.5 % 1.1
[18-1]a-T 2 KAV T 7 3.3 0.2 0.4
[182] - RANLT 7 nd 0.3 0.7
[20] #& AN U SEfb 7 2 L 270 %0.3 0.7
[20-1] &/ ik F 7 % L 3H 170 0.06 0.15
[20-2] Vb7 # L % 63 0.02 0.05
[20-3] F UL F 7 # L 22 0.01 0.04
[20-4] 7 R ZHifkF 7 Z VU 11 0.03 0.08
[20-5] _ 2 ML T T 2 LK 3.0 0.05 0.12
[20-6] ~FHHfifkF 7 ¥ L 0.42 0.06 0.14
[20-7] ~7 2 AT 7 2 L% 0.06 0.01 0.03
[20-8] A #Hifb 7 2L tr(0.03) 0.01 0.04
RII~FHron T H13-PT 5200 | 3,700 | 3,700 20 40
[23] IR TN T 7 4 KR tr(800) %400 1,000
[23-1] iR b7 M 300 100 300
[23-2] i FEb T v T T % 310 30 210
[23-3] Hi R b R 7 0 tr(120) 80 220
[23-4] FL RV T % tr(100) 100 300
[25] ~v 7 vdu~F Yo ALk g (PFHXS) 0.76 0.07 0.18
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